iii) Critically explain Mill's method of Agreement.

e ol Awfs A= I w0 |
iv) ‘a) Why is a scientific hypothesis always
probable?

b)
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Calculate the probability of the following
events: ‘

e Wl TRt N S ¢

i)

'A box contains 6 red balls, 4 white balls
and 5 blue balls. What is the probability
of getting three. blue balls in three
successive draws of balls from the box?

. (If the drawn balls are not replaced).
&3 A b #E T, 86 AM & 9k b

et & | A/ (A 2179 foaa &
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e 23l (O 76 F @I A 6T =) |
A dentist’s chamber has five entrances.

- Four patients reached there at the same

time. What is the probability that the four
patients would enter into the chamber
using the same entrance? 2+(4%2)
GTee v BRI G 2 el
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1. Answer any five questions:
@-CIEA #A1ofb 2 Tea mhe ¢

i)

own words as far as practicable.
1x5=5

Translate the following sentence into a standard
form categorical proposition:

famfarie amibe s fRacers v weisle e ¢
Nothing is both safe and exciting. ;

@I g2 gorle [Atem @R Srees w1

State any one principle regarding the distribution
of terms. _ -

AR oS! FMFE @ (I G0 T @ |
State the obverse of the following sentence:
fnfaie afe Rafe we S 30t 2

80 percent students are honest.

i el =lag AL |

What is the Boolean Notation of the proposition
—"All non-S are P"? :

el §-S ZW P — w407 AW Oy 2
Symbolize the following proposition by means of -
Venn Diagram: ' ;
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~ Everything is beautiful.
g |
vi) What is meant by induction leap?
I PG I 00 T (T2
vii) Give an example of Mill's method of Concomitant
Variation.
R 78, AARS AGfed G TrRdd M8 |
viii). What is the probability of getting an ace in a single
draw from a deck of cards? _
SIo™ A (AF G G O A O (G
28T AWl T2 :
. Answer any two questions: 5x2=10
@I §fb 2ess Ted M8 3

1) Distinguish between deductive and inductive

argument.
Waﬂa\w:ﬁ@aﬂm AL I
ii) What do we mean by existential import of a
proposition? Of four types of categorical
propositions, if only particular propositions are
said to have existential import, then how are
- conversion, obversion and contraposition, in
traditional logic, affected? Discuss in brief.
w@mﬂw{wm%{ﬁwmwﬁ«w
B N WWWWW@QWW
T R SRR SR, TG m\vmﬁw
CF0g B ARTE T 2 FACFCA SO S |
“iii) Distinguish between necessary and sufficient
conditions. Oxygen is what type of condltlon for
combustion?
SRR @ Y =06T Wy WWIWW
Tl SRS (Pl AP *6 2
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iv) Distinguish between favourable and unfavourable
outcome with appropriate examples.

ToATE 7B TR TFA AR Afee R T
A2 T

. Answer any two questions: » 10x2=20

- CPRA! Wb 2t Tew WIS ¢
i) What are the different forms of standard
categorical proposition? Elucidate with examples.

! o abea RS SeRef § Fie SR

T FE |
ii) a) Explain the fallacy of illicit minor with an
example.
@B TuiggeITZ Sy 2FF (A1 ATl I
b) Test the validity of the following arguments
by means of Venn diagrams (any two):
cow Toraa ARIE ke ek et [ow
A (@I 7H) 8
1) AOO — 2nd Figure
AOO — ST ZH
'2) Some mathematicians are philosophers,
“because, philosophers are logicians and
some logicians are mathematicians.
@A @I e zEw e, @
wfea feim o g Ifefm =
sifere e |
3) A poet can never be a fool. Sukumar Roy
is a poet. Therefore, he is not a fool.

3+(31x2)
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